AR
EREEDRD) DERLANERE (FR20EE)

(E+nl& x 10", Il Z [XE+3[& X 1000DER T, )

A ﬁﬁﬁ%(kg/ﬂi)
E LU m | 2em| @ |37 ax | 200 [ RE | A8
> 15 SE - S &5t
1 |EESRDKBHILEY 3.9E+2 394.0
18 [D«7O=)L 4 5E+2 5.0E+0 451.0
20 |J LRI R—b 10E+2| 20E+2| 1.6E+2| 2.0E+1 5.3E+1| 7.9E+2 1,323.5
34 |FH¥oRyTIFIL 1.4E+1 14.0
35 |7/ FA—IFEIIEMCPAFAIFIL
36 |THIKRR 7.3E+1| 1.8E-1 7.1E+0 80.0
37 |EPN 2.5E+1 2.8E+1 52.5
38 |RUTAAR)Y 35E+2| 5.6E+1 1.0E+2 508.0
39 |EUR—bF 31E+2 312.0
49 |y T 6.5E+3| 4.1E+2 6,900.0
50 |wratJERIEvoED 9.0E+3| 1.9E+3 10,870.0
51 |CH7hoTJOIREREFOITVR 1.2E+2| 3.1E+2| 2.0E+2 9.2E+0| 2.0E+2 840.0
53 |THOAJ—)L
75 | 7Dy
76 |ARSOB—IL
78 |ZILTOF L 47E+2| 1.9E+1 4925
79 |2z /arJ—1 9.9E+0| 1.4E-1| 1.0E+2 111.7
81 |[FLF5o0— 2.3E+3 2,266.8
82 |72v8—)L 1.7E+2 172.0
90 [P FEFILCAT 1.0E+1 41E+2 420.0
92 |43 a+Y—)L 5.3E+0 5.3
97 [MCP#&E7=IEZMCPA 8.4E+0 8.4
98 |F=/)LyO0—)L 8.5E+0 85
105 [ZJL/3)R—F 1.5E+1 15.0
106 |Zxo /L L—Fk 9.8E+0| 2.1E-1 10.0
107 |2 RILAR Y 1.3E+1|  1.1E+1 24.0
110 |FARVANWTEIERVFAH—T 71E+1 1.1E+3 1,130.0
11 A7z XkO—)L 1.0E+3 1.0E+2 1,129.0
122 |7OEH=sR 23E+1| 4.3E+0 1.7E+2 200.0
125 [ZILRILD 7R 8.4E+0 8.4
126 [N Iz v 4.6E+2 4641
129 [y & t-(FDCMU 3.5E+1 4. 5E+1 795
130 |[V=20Yv 1.4E+2 142.0
131 |2,4-DFE=1%2,4-PA 1.5E+2 3.9E+1 2.3E+1 210.4
137 |D-D 2.7E+3 2,735.3
141 |[ESV XLz 2.5E+2 254.0
142 |ESYL—k 1.6E+3 1,648.0
143 |©4H0A~R=)LE-IEDBN 14E+1| 8.8E-1 3.4E+1 6.4E+1 113.0
146 |CFT7 /> 6.8E+2 680.0
147 |4 7OoF45> 1.7E+2 168.0
148 | T T 42z R AFET=IZEDDP 1.3E+3 1,316.0
151 |[TFIVLFA AR EIF D RILRRY 2.1E+3 4.0E-1 7.0E+0| 1.5E+2 2,222.0
152 |;k9A>
153 | FaFAHRR 6.9E+0| 35E+1| 5.0E-1| 4.4E-2 9.2E-1| 2.0E+1 63.0
154 |AFH FA 2 EI=[IDMTP 1.1E+3|  2.3E+1 1,136.0
155 |V FIEISF4 6.7E+1| 1.1E+2| 2.1E+2 385.0
156 | ART—k 1.2E+3|  8.1E+1 1,315.0
161 |[HILARRILIT7Y 1.1E+1 1.1E+1 22.0
165 |7 /FAHhILT 3.5E+1 35.0
167 |~ 4&0O)LiR ET-IXDEP 18E+2| 23E+2| 43E+2| 1.7E+0| 1.1E-1 51E+0| 1.1E+2 956.0
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189 |1V FHYFA> 24E+1| 1.4E+2| 13E+0| 1.4E-1 25E+0| 5.3E+1 221.0
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246 |A X4 15E+3| 2.6E+2| 6.9E+0| 2.5E-1 9.5E+1 1,910.0
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274 [D70oxIoy 15E+3| 1.7E+2| 2.2E+1 1.3E+1 1,664.0
275 |72z /0K 54E+2| 7.2E+1| 3.0E+1 638.0
276 [R/3)L 30E+2| 22E+2| 2.9E+1 550.0
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329 |F3JL/N) JLET=IENAC 2.0E+2| 3.9E+2 588.0
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332 725X 2.0E+1 20.0
333 |h—/\ L 7.5E+2 750.0

2/3

EFE.TO7IAN) RS BEEILXRT? RERE2EEFHRE




AR

EREEDRD) DERLANERE (FR20EE)

(E+nlZ x 10", f5Il Z IXE+3[E X 1000 E K TT S, )

o . FRE (ke/5)

= RH . , L7 ot | RE | #RE

- AO|REE] A | | M e mx | aw

334 | X/ AFAR—REEF/ATFAFVE 3.3E+0] 2.2E+1 25.0

342 |EYTFHhILD 25E+2 252.0

350 | 0)LIRREF=(EDDVP 74E+2|  7.2E+2 1,455.0
= Hi 26E+4| 28E+4| 54E+4] 16E+3] 5.9E+1 10E+4| 3.6E+3| 124,745.2

3/3

EFE.TO7IAN) RS BEEILXRT? RERE2EEFHRE




